" Department of Examinations, Sri Lanka P
General Certificate of Education (Adv.Level) Examination, August 2001
Biology - 1
he ot (New Syllabus) Two Hours,
[_. !-I1 each of the questions 0 po 6. pick correct pr most approprinie answer ]
H:L::::;;T:Ir;nuuwmg It common in plant, animal and 1 invertebrate phylum that s evolutionanly most
(1) Mitochondria related to the Phylum Chordata is
(3) Golgi complex (2) Cytoskeleton (1) Arthropoda, (2) Annelida
{5) Centriole 14] Ribosomes (3) Echinodermata (4) Mollusca

hich of the followi
regarding lysosomes?
{1) They are derived from Golgl com
(2) They are double membrang l1lmrhﬁl:::pn:ﬂhl
13} They contain different tpes of digestive enzymes
{4) They help in recyching cellular materals
(5] They are found only in eubaryotic cells.
Which of the following statements is incorrect
arding ATP?
(1) ATP is a nucleotide

(2) ATP is produced during photosynthesis

(3) In aerobic respiration most ATP per molecule of

glucose 1s produced during Kreb's cycle,
(4) ATP i used in muscle contraction.

(5} ATP is utilized in both respiration and photo
syntheis,

Which one of the following metabolic pathways s
nmon to both fermentation and aerobic respiration?

). Glycolysis.

(2} Conversion of pyruvate to alcohol

(3) Electron transport chain

{4) Kreb's cycle

(5) Synthesis of acetyl Co-A from pyruvate

of the following statements is correct?
% a brick red precipitate when heated
with solution
(1)

j.}'l'hi-:huflhmmgdﬂllmlﬂlhlmlﬂl

whds Which one of the following could be considered as

i

(5} Flatyhelminthes

9§ satements s imcorrect 09, Which of the following is correct regarding fungi?
W1) Spores  are  produced only during asexual

reproduction
{2) Diploid stage is represented in the vegetative phase
{3} Heterothallism s of common oocurrence.
{4) During reproduction fusion or cytoplasm and
fusion or nuclei take place simultaneously
{S) Flagellated cells are produced during reproduction

plamt?

(1) Cell wall of a parenchyma ceil
(2) Cawvity of a xylem vessel

(3) Cavity of a sheve tube

(4) Cell wall of guard cells

{5} Cell wall of transfer cells

passive proceas?

(1) Movement of mineral ions from soil solution into
vacuoles of root hair cells

(2} Movement of sucrose from mesophyll cells into
sleve mbes.

(¥ Movement of sucrose from one sieve tube clement
1o the next sieve tube element,

(4) Moverniemt of K* lons from guard cells into

cells.

epidermal
(5) Movement of Na* jons [rom the glomerular filtrate
through the wall of proximal comvoluted tubule.
one of the following situations contributes to

opening of gomata?
(1) When Ko ions move out of guard cells into

m-mn'--'m of guard cella decreases
 below that of neighbouring cell e




14. Which one of the ful;lnwmg
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(1) Water potential and solute potential of the cell sap
have equal and opposite values

{2) Water potential and pressure potential or cell sap
have equal values

(3) Solute potential and pressure potential or cell sap
have equal and opposite values

(4) Water potential of cell sap is less than Water
potential of distilled water

(5) Solute potential of cell sap is more than th
potential of cell sap e

substances is incorrect]
paired with its function? e Y

(1) Auxin - root elongation.
(2) Cytokinin - induction of seneseence in lants,
(3) Gibberellin - seed Eermination, d

(4) Abscissic acid - seed dormancy,

(5) Parathormone - regulation of blood calcium level,

15. Which of the following is incorrect regarding RuBP

carboxylase enzyme?

(1) 1tis present in the chloroplast.

(2) 1t uses carbon dioxide as a substrate
(3) Itis absent in C_plants

(4) It catalyses the production of PGA
{5) It participates in photosynthesis

16. Which of the following statements is incorrect
regarding the light reactions of photosynthesis?
(1) They take place in the thylakoid membrane of
grana in the chloroplast
{2) The electrons lost by P in photosystem [ is
replaced by electrons from phoyolysis of water.
(3) Photasystem I1 provides energy in the from of ATP

for dark reactions
(4) Photosystem | NADPH, for the dark reactions

(5) Electrons acceptors and carriers involved in light
reactions are located within thylakoid membarane

' f
_The diagram given below represents a Cross section o
v P;::ﬂmc?fra p-lgam of a seen under the low power of a

microscope

lowing statements is correct regarding
Which of the following

ts a transverse section O :

G vewsen o 0 o
o

mwll-'d’ the

imary and secondary
e e

above diagram
'::'; 1t h.shh'-dl'“

t-'l]
(5) In repr

18. Which of i orrect h
selaginella m‘; :ﬁ:'“ﬁ o "*wrhag both
E;; :uln: n?anmts are motile,

emale gametoph several
(3) Hrgaspg‘r: pn;gu:: E::dfifrnh
(4) Embryo s nutrition afly
gameto
(3) Sporophytes are dicecious

19. Which of the followi
the human liver?

(1) tis the largest organ of the body

(2) It lies manly in the upper lefi
il pper lef remon of o,

(3) It synthesises haemoglobin
(4} It plays a role in the digestion of food
(5) Itis not involved in temperature regulation

20.Which of the following statements is incorrec
regarding animals skeletons)
(1) Skeletons assist in locomotion
(2) Annelids have a hydrostatic skeleton.
(3) Exoskeletons limit the growth of animals,
{4) Endoskeletons are confined to vertebrales.
(5) mammalian skeleton is involved In caloum
homoeostasis

archepon;y,

Kametophyte
Supported by female

Ng statements is correct regarding

21. Which one of the following group of animals have eyes
very much similar to those of vertebrates?
(1) Annelids (2) Arthropods
{3) molluscs (4) Platyhelminthes
(5) Echinoderms

22, The deficiency of which of the following vitamins

contributes to bleeding of gums?

(1 A (2)B, (3) C (4) E (51K
23. Collagen is a

(1) polysaccharide. (2) protein.

(3) steroid. (4) lipoprotemn.

(5) glycoprotein.

24. Which of the following statements s incormect
regarding human milk?
{1) 1t is the best food that can be given to an infant
(2) lts synthesis is stimulated by oxytocin
{3) It provides antibodies to the infant.

{(4) It has iron binding proteins.
(5) It is virtually sterile.

25. Skeletal muscle fibre
{1} is spindle shaped.
{2) 15 striated.
{3} shows myogenic contractions
(4) is uninucleate
(5) mever gets fatigued

* Questions No. 26 and 27 are based on the followi"§
table. Three parts of the human brain are listed in 15
first column. The second column gives thels Ma
functions and the third column gives their origis

Astan Publcstions




B column | H‘“H—H_F____:___q_

: col
Parts of the brain Majn-ruf:ll:fiun CT;:mu .
.\.lh:}tnllhﬂlnrnu| L- {:D“1m|of¢ " —El_"___
- Mmovements ¥ P-Hindbrain
B- Cerebellum M-Coording
- ton of :
vountary musdtn F-Midbran
action
- Lorpara N- Home
[ quadrigemina — R Forebrain

36. The correct sequence showing the major functions of
o

A, B.and C s,
" ;':H-' vorrect sequence showing the onigin of A B and C
WRQP  apRe  GReQ

28 Which of the follow :
regarding mutations? 08 FHcmets & facoma
(1} They occur spontaneously in cells
(2) They are very important lor the evolution of
CrEanisms

(3) They are always transmitted (o the nexst generation
during reproduction

(4} They may occur when meiosis takes place.

(5) They may change the number of chromosomes i a
cell

.Which of the following developments of the DNA

technology is not used in the human DNA finger

printing technique?

{1) Abality to use minute quantities of DNA for analyss.

(2) Ability to cut long DNA molecules into small
[ragments using enzymes.

(3) .ﬁhﬁi‘:}' to u]:l:!rarltr small DNA molecules by
electrophoresis _

(4) Ability to determine the sequence of nucleotides in
a DNA molecule.

(5) Ability to identify specific DNA molecules using
DNA probes.

red plant
.In a species of pea plants, when a red flowe
Wi 1.1!.:::21::1 with @ white flowered plant, the F, plmtlsf
produced red flowers When the F, plants were sc
pollinated the F, generation showed red flowered plants

and white flowered plants in 16 : 1 ratio. Which of the

: ion for the inheritance?
following is mﬂﬂu:_ll':dh}' mmi ned by linked
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L=

Jl.rihwh of the following statement is incorrect?
1) Inthe nucleus of a somatic cell of a diplos
there are two identical sets ﬂm@hd -
(2} All chromosomes in the nucleus duplicate before
meiosi
(3) Only some parts of human X and Y chromesomes
are homologous
(4) Certain disorders in humans are csused by the
presence of more than 44 autosomes.
(5) Exchange of parts of chromosomes can take place

during mewosis

32. Which of the following is required to maintain the
Hardy-Weinbery equilibrium in 2 populstion?
{1) Flow of genes from other populations.
(2) Occurrence of mutations
(3) Occurrence of migrations
(4) Selective advantages of alleles in survival
(5) Random mating.

33. Which of the following statements is incorrect?

(1) Resources are malerials used in evervday life for
economic development

(2) Ecosystems constitute both non-living and living
FEsOURCEs

(3) Soil is a renewable resource

{4) Water i3 a non-rencwable resource

{5) Some non-living resources can be recycled

34. What 15 the approximate percentage of land covered by
forests in 5n Lanka at present?
M1% (2D20% (0% () 0% (5 50%

35.Which of the following international coavennons s
associated with the management of hazardous wastes?
(1) CITES
(1) Basel convention
(3) Ramsar convention
{4) Montreal protocol
(5) Briodiversity convention

36. Which of the following s directly responsble for
recyching of mineral elements within an ecosystem»
(1) Primary producers
{2} Primary consumers
(3) Decomposers
(4) Parasites
(5) Secondary consumers

37. Which of the following graphs best indicates the change
in the global human population size with time?
{x axis = time, ¥ axis = human populstion se)

{1} The colour , g y
(2) The  flower colour demonstraies polygenic / @ /“_"‘ &

inheritance, are invohwd .
(3) Two independently %"‘ 'I'“F;:‘“ X I X
(4) Red colour of the y y
{Hﬂwh lour demonatrates poly allelic (4) (s)

inheritance 1 X

sedne Biod &LSIR0 103

|
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38. Which of the following i incorrect regarding micro
organisms?

(1) They are the most abundamt
the blosphere Eroup of organismy in

(2) They are the fastest repr
(3) They play an importam
in land ecosystems
(4) They show four different tyPes ol nutrition
(5) They are the major decomposcrs on earth .

n.;r?;fd::t’ulr:h;n :gll:;wmu *amples cleardy shows he
_ actena and yeasts i unst
Pr!]:ln“ rations under the high power of light mirl:n:s:m“:
: pond water sample (2) Vinegar sample, e
:;} Iﬂddr sample. (4) Dilute soil extracy
oghurt sample

© Questions 40 and 4 are based '
which are used i microbial u:]'::.:r o8 bacera

(1) Lactobeciflus bulgaricus (2) Bacillus

(3) Thiobacilius Jerraxidans (4)
! Stre
(5) Corynebacteriym glutamicus !
40. Which of the above bacteria
process for the extraction of m
41. Which of the above bac
control certain insect

uduuillg OFganisms,
role as primar ¥ producersy

thringiensis
OFFtYCes grisews

is used in an industrial
etallic copper ores?

teria is used as a bio pesticide 1o
pests m crop plants?
42. Which of the following statements
regarding viruses?
(1) Most plant viruses contain DNA.
(2} Animal viruses contain either DNA or RNA
(3) Some viruses contain enzymes
(4} All viruses are obligate parasites
(5) Viruses are used in DNA recombinant technology

43. Which of the following methods is suitable to sterilize a
liquid culture medium containing blood serum?
(1) Pasteurization.
(2) Autoclaving at 121°C for 10 minutes
(3} Boiling at 100° for 10 minutes
(4) Filtration using a sterile membrane filter
(5) Freezing at -20°C

44. Which of the following cannot be considered as 1;1
environmental problem caused due to prawn farming’
1) Increase in soil erosion.
:1; Deterioration of water quality in coastal water bodies.
(3) Flooding of coastal areas
(4) Loss of grazing lands for cattle.
(5) Increase in salinity in nearby lagoons

{ in aquarium were found to
= nmmmumm d::'h mouth wﬂ‘ SULEEREE. GF " St
This may be ducto
(1) a parasitic in:ﬁ?:;m
rease in pH o
(3) high abundance of phytoplaakion s the sucface of
water

(4) low dissolved oxygen coatent in the wter
(5) hungsr

oU/2001/AL/BI0 —

15 incorrect

® Questions 48 and

sty the folkowin
LA} Red weevi] o
(B) Black beetje
(CYBrown plan hopper
(D) Yellow flem borer
(E)Case bearer
46. Which of the above
pests dama
only during its aduly “’F-;ausu S P Pl
(i) A (2)B (3)C (4) D 5E

47. Which of the sbove pests have biting and o,
mouth parts during both the level and adult ey

!-

48. Which one of the followin i
£ slatements ig InCorpe;
regarding tissue culture tech ’

niques?
In tissue culture techniques

(1) large number of plants are produced within 4 whort
Lime

(2) new species of plants are produced.

(3} plant tissues are cultured in artificial medig

(4) plants are cultivated free of climatic influence

(5) uniform quality is maintained in plant population:
49. Which of the following organisms is least harmfy! tn

man?

(1) Plasmodium vivar

(2) Entamoeba coli

(3) Wuchereria bancrofti
(4) Clostridium tetani

(5) Necator americanus

50. Which one of the following is needed to determine
whether the ubserved frequencies of different
phenotypes. of the offspring of » penetic croms e

signihcantly different from the expected e8!
(1) Chi- square value (2) Standard devistion
(3) Mean (4) Standard error

(5] Model valus

For each of question 51 to 68 one or more of the
responses w/are correct. Decide which of the response:
responses is/are correct and then select the comea
number.

lfonly A, Band D are correct
If only A, C and D are correct
lfonly A and B are correct ...,
fonly C and D are correct

If any other response or combination of responses 4
correct 5

v

R N
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Drections Summarised
| 2 ) ‘ LI—
ACD|AB |CD | anyather respense
correct | correct | cormedt | o cambination &
respoascs CoTE!

)
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51, Which of the foll 0 : :
- volved in detox ﬁ"u"‘t"‘!_m? rganelle/ organclles isfare 56, The exchange of respiratory gases through the body

:;; ?‘-‘::;::L:::f:jﬁ“m reticulum :“;:-z:wt an adaptation to lerrestrial life
(C) Golgi complex (B) is efhcient when surface: volume ratio is high.
(D) Glyoxisomes (C) occurs via active transport
(E) Lysosomes (Mis a I'I'Iljﬂ'l' feature that contributed to increase in
' ‘ biodiversity on earth
52. Which of the following statement/stay {E) is confined 1o invertebrates.
biodiversity is / are false? ements regarding

57. Which of the following hormone fhormones is/are
released in a mammalian prey in seeing 2 predator?
{A) Cortisol

clped to (B) Adrenaline

(A) Increase in human population si
loss the loss of biodiversity on H“rltT-n_h 4 root cause

(B) Ex-situ conservation practices have b

_conserve some endangered species of Sri Lanka (C) Thyroxine |
(C) Hconservation strategies are property implemented (D) Adrenocorticotrophic el
amimals and plants can be protected from the threat (E) Insulin

of extinction
(D} Human use of living resources always result in an 58. Which of the following contribute/contributes to global

increase in the rate of extinction of these warming? I
(E) Evolution of certain biological pm“mr::l' {A) Increase in carbon d.mdc in the atmosphere
resulted in the expansion of biodiversity in the (B) Large .ﬂ:l.k deforestation
past ’ (C) Depletion of ozone in the atmosphere
(D) Use of coal in thermal power plants
53.A group of students studied the species diversity (E) Increased penetration of ultraviolet rays into lower
freshwater and terrestrial ecosystems and grouped the levels of the atmosphere

organisms observed into different taxa Organisms
belonging to which of the following taxa/taxon may
have been observed in both ecosystems ?

59. Acid rain occurs when atmosphere is polluted with
(A) sulphur dioxide.
(B) nitrogen dioxide

{A) Hirudinea (B) Insecta

B (C) carbon monoxide
{C) racotos (D) Anthoghya. (D) carbon dioxide
L b (E) ozone.

54. Which of the following could be considered as relict 60. In a normally distributed population

SR : (A) The difference between the largest and the smallest
INOSaurs (B) Trilobites _
:ﬁ E'::‘lp shells (D) Ichthyophis Sp. :::“ﬁ is approximately equal to three times of the
(E} Sri Lankan clcphants (B) mean valse is slightly smaller than the modal value
55.1n man (C) standard deviation is smalier than the mean.
(A) spermatogenesis begins during foetal stage (D) the frequency distribution pattern is symmetrical
(B) seminal vesicles store sperms around the mean.
{Clq:munutunﬁunun:uninthcwldﬂrm!’_ (E) more than 75% of the observatioas take 3 value
(D) sertoli ccﬂamt’nundlnthewﬂllufmnrﬁinn between mean + standard deviation
tubules.

(E) Vas deferens Secrete seminal fluid.




